Expressions Review Smartboard 2017.notebook November 15, 2017

1. Simplify:

4x - 5y + 12x + 3x

(£

—
Cr— >

Oct 26-10:55 AM

2. Simplify

Oct 26-10:55 AM
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3. Simplify

13x+2-5y+6y?

Oct 26-10:55 AM

Ashley used the method shown below to add % and l

3.1
Step 1 4= e}
ep 5+4 06+025

85

Step 2 = =
ep 0.85 100

17
Step 3 =5

Is Ashley’s work correct? If not, which is the first incorrect step?

Oct 26-10:55 AM
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5. Simplify.
2
X +3X + 6 +:X

Oct 26-10:55 AM

6. Simplify.

2(5x - 1) + 3x ro

Oct 26-10:55 AM
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7. Simplify.

-6X + 4(2X - 7)ro
\

Oct 26-10:55 AM

8. Simplify.

[ -(3x-4)

Oct 26-10:55 AM
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9

Carrie is making a cake recipe that calls for 3% cups of sugar. She needs

ksl
]% cups of sugar for the frosting. What is the total amount of sugar

used?

Oct 26-10:55 AM

10. Simplify.

Oct 26-10:55 AM
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11. The area of a
rectangle is 4x + 12,
and the length is 2.
What is the width of
the rectangle?

Oct 26-10:55 AM

Which expression is equivalent to m + (p + 6) by the associative
property?

Oct 26-10:55 AM
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13. Simplify.

“(8x-12)->(2x - 4

1
2

Oct 26-10:55 AM

14. Simplify.
(-2x + 7) - (3x + 22

Oct 26-10:55 AM
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15. 4 friends went to the
movies. Their bill was 4x +
24, where x is the price of a
movie ticket. If the friends
split the bill evenly amongst
the 4 of them, what
expression represents the
amount each friend had to

pay?

Oct 26-10:55 AM

Oct 26-10:55 AM
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17. The perimeteris 11x + 17.
What is the missing side?

-

6x

Oct 26-10:55 AM

18. If the area of the rectangle below is 6x + 4

and the width is 2, what is theVl

Oct 26-10:55 AM
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19. Represent the AREA and PERIMETER in
terms of x.

e ro

Oct 26-10:55 AM

By what property are x4+ 3(7 — x) and y + 21 — 3x equivalent?

Oct 26-10:55 AM
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